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Review: ( - 3 The lengths of two sides of a triangle are £
1813 n-¢ and 13 inches. Find the range of possible lengths
How many sides does a polygon with an for the third side. - :
@ interior angle sum of 4140 degrees have? 75 6 < X 42 \

What is the measure of the exterior angle of a

regular do%on? / The lengths of two sides of a triangle are@
-7 inches and pches. Find the e of possible

’l s . .
What is the m\e sure of each angle in a regular lengths for the third side.
oo (§-2)(%> S <X <39

Draw a picture of the following: Find the range of possible lengths for the third
a) A concave quadrilateral v side of each triangle.

b) Aconvexnonagon — 21 14 V7 < )< < %S

c) Aregular qUadril?/teral —s' ﬂ X % g~
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Angle Chasing Worksheet

X 9 C|\<)(<2V

18

AB+8C>AC , Which side is the longest?
BC+AC> AB
AC+AB> BC

‘Tell whether a triangle can have the following
side lengths:

7,10,19 [, 7410 #19

2.3,3.1,4.6 L/-QS
Which angle is the largest?

12,4,17 No A 19.5 B

24,8,30
V4 \/eb
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The largest angle is opposite th
longest side in any given
triangle.

Write the angles in order from
smallest to largest.

- FR,G
19.6 17.2

F H
20.4

Write the sides in order from
shortest to longest.

~
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Midsegments of Triangles

The midsegment of a
triangle is a line segment
that connects the midpoints
of two sides of the triangle.
Every triangle has three

midsegments.

Triangle Midse gment Theorem

The segment joining the -
midpoints of two sides of a
triangle is parallel to the third
side, and its length is half the
length of that side

RS is parallel to &Q .

KRS=9, then QP = _ &ﬁ .

If QP =16, then RS = _ 3

-

4

In the figure, Rand § are the midpoints of QT and PT.
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Review Sheet

Proofs We Have Discussed and will be on the quiz

b b

=ms 4 andms3=ms

2. Alternate Interior Angles Theorem .

3.ms4

4.ms

+m£2 + ms5 = 180°

T imaaemz 3 =180°

S.Wﬂn memPostulate and temitian.of

straight angle

4, Substitution Property of Equality

Bythe Tangle SumTheorem ./, . /2 4 ms3 = 180°.

Also,ms3+ mzd = 180° pecause they are supplementary and make a straight angle.
By the Substitution Property of Equality, then, mZ1 + m£2+ me3=ms 3 +mes 4 .

Subtracting m£3 from each side of this equation leaves

M+ m2umd

3N4 This means that the measure of an exterior angle of a triangle is equal to the sum of the

measures of the remote interior angles.

Critical Thinking Prove ZB 2 £C, given point M is the midpoint of BC.

| 1.Mis the midpointof BC. 1. Given
2.BM=CM 2. Definition of midpoint
3.AB=AC 3, Given
8.AM =AM 4. Reflexive Property of Congruence
5, AAMB 2 AAMC 5. 555 Triangle Congruence Theorem
6. 4B LC 6. CPCTC

1. How do you find the sum of the interior angles of a polygon?

2. How many sides does a polygon with an interior angle sum of 2700° have?

_.3. What is the measure of an interior angle of a regular pentagon?
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4. Find the value of x in each. B

3x 4 2° X

52°

152° A C
B C
5a° 48°
Find the value of a. 2 sa)D
AL 28
5a° 3a8°
F E
5. Name the sides from smallest to largest. 6. Name the angles in order from smallest to largest.
/ ol
F : D
1
2 13
G 59° 61 H =

7. Can three segments with lengths 8, 15, and 6 make a triangle? Explain your answer.

8. Can a triangle be made from the side lengths 3, 3, and 67 Explain.

9. Atriangle has sides 3 cm and 8 cm. What are the possible side lengths of the third side?

10. Whatisa midsegment of a triangle?

Find the value of n.

3n+12 n+14
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Otralght angle

; : i "~", ¢
ate Interior Angles Theoyem > :

the ,.?'?Pﬂ.!ﬂﬁmwﬂ,,ma + M2 + me3 = 180°%

By
2 Also,m43 + msd = 180° pecquse they are supplementary and make & straight angle.
/A By the Substitution Property of Equality, then, m£1 + ms24 mL3=ms 3 +me S
A ' 4
Subtracting m£3 from each side of this equation leaves .. m.ﬁ 1 +, "‘[2 " e
! 3 This means that the measure of an exterfor angle ofa riangle is equnl to the sum of thc
measures ot’ the remote interior angles.
. 14
Critical Thinking Prove £B % £C, given point M is the midpoint of BT, )
A
8 M [4

1. M s the midpointof BZ. 1. Giv

2BM2CH ) 2, Dcﬂnmanofmidpolnt
3.A8=AC i © "‘; 3, Given

4 AMAM . o | %Beflexve Pmpmy of Congruence
5. AAMB X AAMC 5. SSSTvIangleCangmanm Thearem
6.482 £C o 6. CPCTC *

1. How do you find the sum of the interior angles of a polygon?

fomde:  |90(n-2)
n= #ofsidey

2. How many sides does a polygon with én interior angle sum of 2700‘; have?

17002 l%(n—23
o Bezn-2

3. What is the measure of an interior angle of a regular pentagon?

1%5(%= S40  SHo
5 =




4. Find the value of xin each.
3Ix 4+ 2°

> 52 ! §2+52 yx=1§0 &

Find the value of a. —)@ G 2 4o =120
150 () @

6. Name the angles in order from

smallest to largest.

5. Name the sides from smallest to largest.

! .
= — F
o AL, ‘HQ,T-G 1
2 13
61\, '

7. Can three segments with lengths 8, 15, and 6 make a triangle? Explain your answer.
No §+e< 1S Twesids of & b“\;‘i“}
Qe FIS <~ b'ac% e ¥ sioe

8. Can a triangle be made from the side lengths 3, 3, and 67 Explain.

No 3:+3« 06

®i=
O

9. Atriangle has sides 3 cm and 8 cm. What are the possible side lengths of the third side?

S< x <\

10. What is a midsegment of a triangle?’

a e Sesmu\ (oanecHﬂb +ee midpc*v\'\'s be. ‘o Sl\dl-f

Find the value of n.




